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Activity 1. Requirement Revision

1.1 Stage 1000 Planning
1.2 Stage 2030 Analysis
1.3 Stage 2040 Design
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R.3.0 Start Stopwatch
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1.5 Stage 2060 Unit Test

Activity 2. System Test Response
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Activity 3. Static Analysis Response
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gui.setIconInvisible(1);

gui.modeDisplay(modeIndex);

- if((int)system.getTimerTime() =8} {

hourPart = (int) (system.getTimerTime{) / (6@ = 6@));
minutePart = ({{int) system.getTimerTime()) % 368@) / &8;
secondPart = (int) (system.getTimerTime() % &8);

= T else ¢

= secondPart = 85

- System.out.println{secondPart);

+ ff5ystem.out.printin(secondPart);
gui.updateHour (hourPart, true);
gui.updateMinute{minutePart, truel;

pul.updateSecond{secondPart);

part javax.sound.sampled.AudioInputStream;
import javax.sound.sampled.budioSystem;
import javax.sound.sampled.Clip;

import java.io.File;

public class Bell extends Thread 4
private AudioInputStream audioln;

private Clip clip;

public Bell()} {

File ¥ = new File{"./Alarm.wav");

try §

gudioln = AudioSystem.getdudiolnputStream(f.toURI(}.toURL());
clip = AudioSystem.getllip();

clip.open{audioln);

clip.stop();

} catch (Exception e){

e.printStackTracel);

T

public voig rum{}{
clip.loop(Clip.LOOP_CONTINUOUSLY);
clip.start();

public voidg play(){
this.start();

public void pausef){

clip.stop();

public boolean isPlayving{){

return clip.isActive();
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if({sy=tem.getStopwatchTimel )< 360668) {
secondPart = (int) (system.getStopwatchTime());
minutePart = (int) ((system.getStopwatchTime() / 108} % 68);
hourPart = (int) ((system.getStopwatchTime() s 10@) [ 6a};
} elze {
secondPart = (int) ((system.getStopwstchTime() / 188) % 58);
minutePart = (int) ({system.getStopwatchTime{) / 188) / s8)%60;
nourPart = (int) {(system.petStopwatchTime{) / 18@) / 3688);
%
secondPart = {(int) (system,getStopwatchTime());
minutePart = (int) ({system.getStopwatchTims() / 1828) % &a);
hourPart = (int) ({system.getStopwatchTime()} / 188) / 68);

gui.updatedour {hourPart, trus);

LI LI CALCULLUN= C.ECLICIIaECY j,
System.out.println("Alarm Interrupted Exception occurred™+exception);
Thread.currentThread().interrupt();

System.out.printin{"alarm Interrupted Exception occurred"+exception);

public void 1sAlarmSound{int currentHour, 1nt CcurFrenthMinute)i B — & — 8 L g G e o - ol e o ot T — | - e i i
if{this.alarmTimeHour == currentHour &% this.alarmTimeMinute == currentMinute){
if{this.alarmTimeHour == currentHour &% thisz.alarmTimeMinute == currentMinute S& this.slarmTimeSecond == @){

buzzerfn = true:
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Activity 4. OOPT Review




